Math 160 Spring 2008 Name:

QUIZ #2 @ 100 points

Write neatly. Show all work. Write all responses on separate paper. Clearly label the exercises.

L2 . .
1. Find the exact value of each of the other five trigonometric functions of @ if sin@ = —= and 8 is in the third

quadrant.

2. Evaluate the following expressions. Give exact values whenever possible.

.5 . 1

a) sin d) cos| sin '—J

4 5

(1

b) cos™ {—5] e) In 'secx+tan x|+ln‘secx—tanx
c) tanZ

6

3. a) FIND a formula for sin x in terms of cos2x .

b) FIND a formula for cosacosb as a sum of sine and cosine functions.

¢) Find a formula for cos 36 in terms of cos@ .

4. Graph the following function between —27 and 7. Show the exact x-and y-intercepts.
f(x)=e"cosx

5. Prove the following identities:

1-sin@ Icos@|
a) Incotx =—-Intanx c) = .
1+sin@ 1+siné

b) cosf

=sect +tant

1-sint

6. Solve the following equations:

a) Solve in [0,27): cos[2x—

J-o

&N

b) Find ALL solutions:

¢) Solve in [-27.,27]:

d) Solve in [0,27):

e) Find ALL solutions:

f) Solve in [0,27):

cos(Inx)=0

l+cosx=0
2

. bl .
2sin"y=1-sinu
cosx=0.2

cosx—sinx=1
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